OLD

This Question Paper contains Section-A 17 + Section-B 1/1 questions.
=H T-T3 % I=iid @US-3 17 + @ue—« 1/1 U |

Time : 3 Hours | [ Maximum Marks : 100
qay ;3 T | [ qUTfek @ 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.

(ii) Section B’ has got more than one option. Candidates are required to
attempt questions from one option only.

e : () WIHF-TH 3 e —uve o ud wrg T |
(i) @Ue ‘3 % |l U B TA AT L
(i) @Ue T T UH U Afeek fapen &1 wleria =l ot Tes Torehed & & T3 & W A 2|

SECTION-A
Que-A

1. Cost of Goods Sold = Opening Stock + + — Closing Stock. 1
S T WIS Sl AN = SRR @i + + _ wif=m =

2. List any two methods of Valuation of Goodwill. 1
AT o Yo sl foheel gt faferdi <l g sEw)

3. Give any two examples of External Liabilities. 2
e AT oI5 qF IqTE S|

4. What is meant by Error of Omission? 2

Ar-3Tfg 1w 31 87
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5. Define a ‘Bank Reconciliation Statement’. 2

‘S gara foaror’ w1 uftarivg Hifsm)

6. Give any two examples of Capital Receipts. 2
YSiTa e o6 SIS &t 3aTeoT it |
7. State any two circumstances under which court can dissolve a firm. 2

T foredt St uftfefemt =1 3g@ hifse vad *IE teh 1 1 G919 Fendl 2|

8. Explain any three branches of Accounting. 3
TR i foRedl i TmEneti s v i |
9. Explain ‘Business Entity Assumption’ of Accounting. 3

TG MR 3fded H w=dr w1 9uiq s

10. Prepare a Bank Reconciliation Statement as on 31st March, 2009 : 4
(i) Balance as per Cash Book on 31st March, 2009—Rs 15,000
(ii) Cheques for Rs 5,000 were issued, but not cashed up to 31st March, 2009

(i) Cheques amounting to Rs 2,000 were paid into Bank, but were not
credited by 31st March, 2009

(iv) Pass Book shows a credit of Rs 180 for interest and a debit of Rs 40 on
account of Bank Charges

31 A, 2009 ol Tk S gHTE faewor dur Hifsw .
(i) 31 T, 2009 I UHS T H IT—15,000 %o

(i) 5,000 %o % =k fifaa fohw T, weg 31 AN, 2009 T S TR THR1 PIAE A&
[ERIRIEI

(iii) 2,000 %o & =k b H SH FAT T, Afehd 31 TTE, 2009 Tk o FW 3= hiee Tl
[ERIRIC

(iv) T Y S F 180 Fo HiGe T Sk =77 % 40 To foe 7ot w2
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11. Write a transaction for each of the following situations :
(i) Increase in assets with corresponding increase in capital
(ii) Increase in assets with corresponding increase in liabilities
(iii) Decrease in assets with corresponding decrease in liabilities

(iv) Increase and decrease in assets

Frfefiad were aftfeafd & fie we o 1 3ame 4 ¢

(i) |FRd  ghg o wg-|r gt ° gh
(i) EFIRT H Fhs o TY-TF A H Jha
(iii) TPt T 6w~ <Far | hH
(iv) @t # ghg vd gwfa § s
12. Amit, Sumit and Vineet were partners in a firm. Vineet died on 1st February,
2008. His executors approached Amit and Sumit to know about the various

amounts they are entitled to. There was no partnership deed. List any five such
amounts for which Vineet’s executors are entitled.

afid, gia w@ fofia o wd § Wger 91 1 W, 2008 F fofia B geg @ TS| 3E
ITFR 2THd Td g o 98 36 SEHH 6 [0 g 6 o fore-forg Uit &1 9T &
afm &1 s 1 TEEd Go T 1) U wie TRE 6 g SR R R
ST aTe A % st ¥

13. Explain the terms :
(a) Subscribed Capital
(b) Called-up Capital
ffefiad =t Toe FHifvw
() el st
(@) wrft s It
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14.

Prepare relevant Accounting Vouchers for the following :

(i) Purchased goods on credit from M/s Suman & Sons for Rs 5,000
(ij) Paid into bank vide Pay-in-slip No. 153—Rs 2,000

(i) Sold machinery for cash—Rs 10,000

(iv) Withdrew cash from bank vide Cheque No. 002395—Rs 1,000
FrfaRad & T 9w Ti@rd THIE dIR AT

(i) 5,000 %o = AT UHH oA WS T § IR & Towa

(i) % " 153 Fo ht SHT-TH T 2,000 Fo ST FHT T

(iii) 10,000 %o i T =1 ek Tarshar Toram o

(iv) &% ¥ = do 002395 W 1,000 %o Tt MU

. R Ltd. Co. invited applications for 20000 shares of Rs 25 each from the public

on the following terms :

On application—Rs 5

On allotment—Rs 10

On first call—Rs 5

On second and final call—Rs 5

Public applied for 25000 shares and all the shares were allotted. Mr A, a
shareholder, holding 150 shares failed to pay the first call money and on his
failure to pay this, his shares were forfeited. The second and final call was
made thereafter.

Journalise the transactions.
R fdo o 94 SHaT @ 25 %o ufd 37w H ® & 20000 Fw & fou F=fafaa w@f =
IeT-u 3 TR

TG TW—5 Fo

AT W—10 Fo

T ATEHT W—S5 Fo

e 7 sifaw amm m—s5 %o
SHAT 3§ 25000 A9 % forw ermaes fopam otk weft ofem =i frifta s feam ) wew eqmred
fro A, TS w150 2791 9, Worg Fr=Ar UMY A& ¢ |eht 3T 39 TR 1 PaE F i |
3Tk TN 1 STed L for T | 38k g Tyt & af<ag aren wfyr ot w8

At hl U | ufafy fifsg

10

10
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16. The Trial Balance of Arvind & Sons on 31st March, 2008 was as follows :

Dr. Balances Amount Cr. Balances Amount
Rs Rs

Machinery 1,23,000| Capital 5,90,700
Building 3,80,000| Creditors 19,870
Sundry Debtors 1,76,000| Sales 478,760
Opening Stock 18,400| Purchases Returns 2,200
Purchases 3,00,000| Bank Overdraft 25,000
General Expenses 15,290
Sales Returns 800
Drawings 63,500
Insurance & Taxes 31,200
Wages 2,800
Printing Expenses 1,350
Carriage Inward 890
Carriage Outward 300
Cash in Hand 3,000

11,16,530 11,16,530

The following additional information is given below :

(i) The Stock on 31st March, 2008 was valued at Rs 15,270
(ii) Printing Expenses due—Rs 58,650

(i) Audit Fees due—Rs 12,100

(iv) Depreciation to be written off @ 10% p.a. on Machinery

Prepare Trading and Profit & Loss A/c for the year ended 31st March, 2008 and
Balance Sheet of Arvind & Sons as at 31st March, 2008. 12

320/ 0SS /212A f23



31 "™, 2008 &l 3Rfd= VIS T hl dede HEfeTiRad o :

ez 71y afsr Figz oy afsr
%o %o

RNEE 1,23,000 | it 5,90,700
T 3,80,000 | ¥HeR 19,870
fafay TR 1,76,000 | foma 4,78,760
ey i 18,400 | &g =a 2,200
ED) 3,00,000 | s 2ferfasry 25,000
M = 15,290
IEER IR 800
TR 63,500
7 ug 31,200
BEEE) 2,800
fufen == 1,350
ATEF ST 890
EIEERNS) 300
TEAEY Uhg 3,000

11,16,530 11,16,530

Frefafaa sifafes geae = @ §

(i) 31 ¥, 2008 &I Wwhid 1 JeAieh 15,270 %o form
(i) 3em fafem =@ 58,650 %o
(i) 3T ket $E 12,100 %o ©

(iv) FE W 10% Jfd a9 6 R H YeIg™ Tfeirgd fmal ST &

31 9, 2008 @ A BH a1 99 & folu SAmR ws @w-g @ o @ fafy s

feurfa-feor qam i)

320/ 0SS /212A o
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17. The following was the Balance Sheet of Nimesh and Vishesh who were sharing
profits in the ratio of 2 : 1 on 31st December, 2007 :

Balance Sheet
as at 31st December, 2007

Liabilities Amount Assets Amount

Rs Rs
Creditors 65,900 | Cash in Hand 51,200
Capitals : Debtors 9,700
Nimesh 60,000 Stock 40,000
Vishesh 40,000 | 1,00,000 | Plant 25,000
Buildings 40,000
1,65,900 1,65,900

They agreed to admit Rajat into partnership on the following terms :

(i)
(it)
(iii)
()
)

(vi)

Rajat was to be given érd share in profits and was to bring Rs 30,000 as

his Capital and Rs 12,000 as his Share of Goodwill

The values of Stock and Plant were to be reduced by 10%
The provision of 5% was to be created for Doubtful Debts
The Building was to be appreciated by Rs 9,600

Investments worth Rs 400 (not mentioned in the Balance Sheet) were to be
taken into account

The Goodwill amount brought by Rajat was to be withdrawn by the old
partners

Prepare Revaluation A/c, Capital A/cs and Balance Sheet of the new
partnership firm.

320/ 0SS /212A 10
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OR

A, B and C are partners sharing profits in the ratio of 4 : 3 : 2. Their Balance
Sheet on 31st March, 2008 was as follows :

Balance Sheet
as at 31st March, 2008
Liabilities Amount Assets Amount
Rs Rs
Creditors 33,000| Cash 10,000
General Reserve 27,000 | Debtors 15,000
Capitals : Stock 30,000
A 70,000 Machinery 50,000
B 45,000 Land and Building 1,00,000
C 30,000 | 1,45,000
2,05,000 2,05,000

B retires on the above date on the following conditions :

(i) Land and Building be appreciated by 20%

(ii) Goodwill is to be valued at Rs 18,000 and was not to appear in the books

(iii)

written down by 10% and Stock by 5%

()

Rs 5,000 and balance be transferred to his Loan Account

A Provision for Doubtful Debts of 5% is to be created and Machinery be

A provision of Rs 1,500 be made in respect of Legal Charges. B to be paid

Prepare Revaluation A/c, Partners’ Capital A/cs and Balance Sheet of A and C.

31 femmr, 2007 & Foy wa fomm w1 feufa-foeon frafafeq o, St 201 % sguE §

ol 1 e W R 9
fesrfa-faaeor 31 fagw, 2007 #t
AT afer gRaEgEt afr
%o %o
IGELALY 65,900 | TEEY Uehe 51,200
ISt R 9,700
oy 60,000 Tl 40,000
IEEL 40,000 1,00,000| @I 25,000
0o 40,000
1,65,900 1,65,900
390 /0SS /212A 11

IPTO



I A %l HHETTRId Tl 9 ET3eR § Ti® s ¢

() @ ® @ w L feemn fen Smm ek W e R k30,000 Fo St @
12,000 %o TAT(d o QT

(i) TR a9 F G 10% | FA fRan smom

(iti) G O % T 5% 1 AR TR St

(iv) W7 % G § 9,600 Fo ¥ (5 TE 2

(v) 400 %o & fafm (et feafa-foero & 98 qwfen M ®) =1 oen gt & foren
ST 3

(vi) TG R TS TS i <Y A R et g % & feprer <ft 78 2
AR @A, IS @I a9 95 dreierl %4 1 fEfd-faaton qar i

3UAAT
A, B 3R C OIEeR € 3R 4 : 3 : 2 % 31ud ¥ @i 1 fa9ee X ©@ €1 31 °H, 2008
&l 1 fedrfa-feeror F=fefaa o .
ferfa-faawor 31 @, 2008 Ft

%o %o

TER 33,000 | Uwe 10,000
YW G=d 27,000| TER 15,000
St e 30,000
A 70,000 i 50,000
B 45,000 o Td Waq 1,00,000

C 30,000 1,45,000
2,05,000 2,05,000

I fafyr W B = Fefiifad wral &6 9 3TaeRreT U0 foRaT
(i) " U@ WEA % qed § 20% I gha T
(i) AT T oA 18,000 Fo T TRaT TIT | 39 JEashi H & w1 ST

(iii) Tfee o % foTT 5% w1 ARISH foham ST 81 7t 1 10% @ a1 @i &t 5% o
sraferfiga foram stmn

(iv) FH 2 % T 1,500 %o 1 RS {1 STHT 21 B &1 5,000 %o &1 TaM T
ST 8 a7 9 T 366 /00 @A | TR 6l S 8

AR @Tdl, |T3ER o ISt @d a9 A 3R C &1 fefd-foawon dom Hifsg |

320/ 0SS /212A 12



SECTION-B
Tug-a
OPTION-I
o1

( Analysis of Financial Statements )

( Torfta feraont st forverson )

18. (a) Calculate the Current Assets of a company from the following

information :

()
(@
(iii)
(w)
(v)
(v

Stock Turnover Ratio—S5 times

Stock at the end is Rs 15,000 more than stock in the beginning
Sales—Rs 2,00,000

Gross Profit Ratio—25% on sales

Current Liabilities—Rs 50,000

Quick Ratio—0-75

ffefiad g=m & vk et 6 are aiErafeEt Ja i

(9
(%)
(iit)
()
)
(vy)

i eTad Sgaa—S5 T

e wied @ arfaw wfaar 15,000 %o 31fée B
fasa—2,00,000 %o

T AT AIATA—TeTshl T 25%

=T FFAL—50,000 Fo

WA AFAET—0-75

(b) The current ratio of a company is 2 : 1. State whether each of the following
transactions would (i) increase, (ii)) decrease and (iii) neither increase nor

decrease the current ratio. Give reasons in support of your answer :

(1)
(2)
(3)
(4)
(5)

Sale of goods for Rs 11,000 (cost Rs 10,000)
Sale of machinery on credit of 5 months
Repayment of long-term loan

Issue of shares for cash

Issue of debentures for cash

320/ 0SS /212A 13 IPTO



Teh hFOHT 1 =] YA 2 : 1 1 darsy foh i U T e o 9 =ie] Tgurd °
(i)t 2, (i) et Enll, Ao (i) HIE ghg AT HH TE SR SO Ik wHAA H

E U S

(1) 11,000 %o ® a&gati (WTe) & foshl (W@ ¥ 10,000 Fo)
(2) 5 UEH o IUR W T 1 s form
(3) relentel w01 1 GH:9TAM foRal T

(4) 3720 T Tehe & sacl FTHA TR T

(5) EUTGST =T Tehe o SIgel E feRaT T

(c) From the following Balance Sheets of ABC Ltd., prepare (i) a schedule of
changes in working capital and (ii) a statement of sources and uses of
funds, showing your workings clearly :

Balance Sheets

Liabilities 2006 2007 Assets 2006 2007
Rs Rs Rs Rs

Equity Goodwill 30,000| 25,000
Share Capital 1,00,000| 1,25,000| Land & Buildings 75,000 1,12,000
Redeemable Debtors 62,500 50,500
Preference Share 50,000| 40,000| stock 37,500| 40,000
General Reserve 20,000| 22,500| cash 17,500| 22,500
Profit & Loss A/c 12,500 17,500
Creditors 40,000 45,000

2,22,500] 2,50,000 2,22,500] 2,50,000

Additional Information :

(i) Depreciation of Rs 5,000 charged on Land & Buildings

(i) Building amounting to Rs 10,000 was sold for Rs 9,400

320/ 0SS /212A
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ABC o & THicifigd feafd-faawor 9 (i) wEeflad gsit § qiadd sl diietshr qer
(i) Y & HAl Td IFAAT 1 fqawor TR e ot wEi-fewfiet o e v 9

amiQQ .
fesrfa-feraror
o/ Lef 2006 2007 gREEtar 2006 2007
Lo %o %o %o
THAT 379 S 1,00,000 | 1,25,000 | @afd 30,000| 25,000
Mo qatfesprl 379 50,000| 40,000 | 4ftr T o= 75,000| 1,12,000
Y= F= 20,000| 22,500 | 3R 62,500| 50,500
-1 @At 12,500| 17,500 | wfemr 37,500| 40,000
THER 40,000| 45,000 | Uehe 17,500| 22,500
2,22,500| 2,50,000 2,22,500| 2,50,000

TR G

(i) " T WeF | 5,000 Fo H YeAGE TR T &

(i) 10,000 ¥o T a4 9,400 Fo H == fozm w1 7

390 /0SS /212A 15 [PTO



OPTION-II
IEET M|

( Accounts of Non-trading Organisations )

( TR-=aTuTiEER wEensti % @ )

18. (@) Show in which account (Receipts & Payments A/c, Income &
Expenditure A/c or both Accounts) and on which side (Receipts side,
Payments side, Income side or Expenditure side) the following amounts
will be shown for the year ending 31st December, 2007 :

Rs
(i) Subscriptions received for the current year 2007 5,000
(ii) Subscriptions for 2007 received in 2006 2,000
(i) Building purchased in 2007 2,00,000
(iv) Cash balance in hand at the end of the year 20,000
(v) Subscriptions related to 2008 received in 2007 3,000

femmsy for 31 femrr, 2007 = THW 9 o 99 A F=fefaa afve = e @ °
(T Ta JaH @Tal, ™ Td 29 @il A1 aE1 @) a9 R us i AR (e e,
A T, 3T U&d A7 AT UL AT A

%o
() =T A 2007 % U wmw == 5,000
(i) 2007 & fw 2006 T UTH Fi T == FH R 2,000
(i) 2007 ¥ e & FI 2,00,000
(iv) 99 % 3T U TEaTd The 20,000
(v) 2008 ¥ HrIf-ad =< =t T fS@ 2007 T umH fham = 3,000

(b) During 2006-2007 the salaries paid amounted to Rs 1,70,000. Calculate
the amount chargeable to Income & Expenditure A/c for the year ending
31st March, 2007 from the following additional information :

Rs
Salaries paid in advance on 31st March, 2006 10,000
Salaries paid in advance on 31st March, 2007 20,000
Outstanding salaries on 31st March, 2006 15,000
Outstanding salaries on 31st March, 2007 40,000

320/ 0SS /212A 16



2006-2007 % ENE 1,70,000 %o o ddd sl YIAH TohaT 71| HHleiiad 1fdin
1 & el € 31 ", 2007 1 GHME T Tl 99 o U o™ ud = @ °

%@aﬁmﬁrﬁaﬁm@ﬁq:
%o
31 W=, 2006 i Jaeq Ja4 i TRT 10,000
31 "€, 2007 =l qdad o i AT 20,000
31 A, 2006 I 3ET da 15,000
31 9/, 2007 = 371ed aaq 40,000

(c) From the following information, prepare Income & Expenditure A/c of
Mehta Club for the year ended 31st March, 2007 : 10

Receipts & Payments A/c
for the year ended 31st March, 2007

Receipts Amount Payments Amount

Rs Rs
To Balance b/d 2,750 | By Furniture 3,750
» Interest on Investments 2,875| » Salaries 18,125
» Donations 21,250| » Miscellaneous Expenses 250
» Subscriptions 35,000 » Telephone Charges 16,125
» Rent Received 15,000| » Fax Machine 7,500
» Sale of Old Newspapers 375| » Investments 18,750
» Printing and Stationery 500
» Balance c/d 12,250
77,250 77,250

Additional Information :

Subscriptions received included Rs 750 for 2007-2008; The amount of
subscriptions outstanding on 31st March, 2007 was Rs 625; Salaries
during 2006-2007 unpaid were Rs 875; Capital fund as at 31st March,
2006 was Rs 12,750; The Club also had investments of Rs 10,000

320/ 0SS /212A 17 IPTO



31 =, 2007 sl GHTH B oel 99 h folQ HeieiiRad geE1eA i Her™dl § Hadl sl
1 A TF = WAl TR HINT

g1ty Td YA @
31 JT=, 2007 FI GHIY & et a9 & forg

srfeEr E AT ks

%o %o
AT AT T hE I 2,750 | wt=T 3,750
Tt w == 2,875| aad 18,125
| 21,250 | fafaa == 250
==l 35,000| A®H == 16,125
BIERETRI 15,000 | e mwefia 7,500
A STEERT h fersht 375| fafw=m 18,750
fufen wa wemdt 500
AW A W 1T Uhg AT 12,250
77,250 77,250

SfaRe gaAm

I 6 U™ T 7 2007-2008 & forw ford v 750 %o wfmifera §; 31 @M, 2007 H
e =< W TET 625 To off; 2006-2007 & TRE 36T da+ i TR 875 Fo off;
31 W€, 2006 1 Ut W 12,750 %o o A1 Fa0& & 9@ 10,000 Fo o faf=m
ot o)

320/ 0SS /212A 18



NEW

This Question Paper contains Section—-A 22 + Section-B 5/5 questions.
T YT % 3Tiid @Ue—31 22 + WUe-9 5/5 UM |

Time : 3 Hours | [ Maximum Marks : 100

qay ;3 T | [ qUTfek @ 100

Note : (i) This Question Paper is divided into two Sections—Section ‘A’ and
Section B’.

(i) Attempt all questions of Section ‘A’
(iii) Attempt all the five questions of any one option of Section ‘B’.
o : () WIHF-T A 3 e —uve o ud wrg T |
(i) @Ue ‘3 % |l U B TA AT L
(i) @Ue ‘o % e e foerew & wft uiwr Tl I 7 FET R
SECTION-A
Gus-A

1. Why should the total of two columns of a Trial Balance be equal? 1

TS o QT TP T AT SR F1 ST =1

2. Enumerate the two ways in which the Capital Accounts of partners can be
maintained. 1

3 3 fafemt <t o Hifste e areer & ISt @t T S Eed ¢

3. What is meant by Issued Capital? 1
foffer dsft o1 am aef 27
4. Differentiate between Book-keeping and Accounting on the following basis : 2

(a) Objective
(b) Level of knowledge

320/ 0SS /212A 10 IPTO



JEQUTTH T @R H - @ 3T9R 9 37=dug i
(%) =@

(@) I H =R

5. Explain the term ‘Financial Accounting’ in brief.
‘Tt TR 1 Had H SR i |

6. Differentiate between Manual Accounting and Computerised Accounting on the
following basis :
(a) Recording
(b) Adjusting entries
1 o STTER W 37376 @i Ud HFeihd oi@ichd § 3T=aWg iV
(%) aAfvreres
(@) TEESE gt

7. You are an Accounts Assistant in a firm. You have been asked to differentiate
between Capital Receipts and Revenue Receipts on the basis given below :

(a) Nature

(b) Source

M9 TF BH B ET-TERe & | 9! 9 73 T smem W s wfeRt qen s it |
ITANE L o 1T gl T ¢

(%) wHfd
(@) =

8. Explain briefly the following items of revenue of a not-for-profit organisation :
(a) Entrance fee
(b) Grant-in-aid
STV T Y e 3T wai <t |ad § =are hif
() T e
(@) wEEad g i

320/ 0SS /212A 20



9. You are the Accountant in a partnership firm of which A and B are partners.
There is no partneship deed. They differ on the following points. How will you
deal with their problems?

(i) A wants a salary since he works for the firm, while B does not work for
the firm

(ii) B has given a loan of Rs 15,000 to the firm, he wants interest on this
amount @ 15%

A ot wrEierl wH H, fHh A 91 B WSl €, Q@R 8| FEl s deei dod T 8
I 7 forgall W wave 21 o S gwenes @ Fa fuen?

() A =TEdl g % 38 aa7 fen 9 =it a8 v % fou &0 axar 7, S9fs B wH & forw
& TE T B
(i) B HH & 15,000 Fo 0T AT 7 AT 98 3 AR W 15% ATS 4T =&l 8

10. Prepare Accounting Equation from the following transactions :
(i) A started business with cash—Rs 3,00,000
(ii) Purchased goods for cash—Rs 50,000
(iij) Sold goods (costing Rs 8,000) for Rs 9,000
(iv) Paid salaries—Rs 15,000
frfeTitaa TeT o ciEmeR THie IR

() AT UFHS & T A8 YT fF=1—3,00,000 Fo

(ii) e WA FAF TFI—50,000 Fo
(ii) 8,000 Fo Y ANT = HTA =1 9,000 Fo T
(iv) a1 YTAE fR1—15,000 %o

11. State the meaning and any two points of significance of ‘convention of full
disclosure’.

“qui SregforeReoT <l afRuTel’ o1 Ao qeT hiE &Y Heed o foivg SaTse |

12. Explain, in brief, any four functions of Accounting.

AR o Tl =R % i 989 7 =men Hifs)

320/ 0SS /212A 21 IPTO



13.

Enter the following transactions in Journal :

2008
December 31 Salaries outstanding—Rs 1,00,000

» 31 Prepaid insurance—Rs 3,000
» 31 Rent receivable outstanding—Rs 1,000
» 31 Rent received in advance—Rs 1,000

Frefattaa et i Usam= 1 afafeat i .
2008
femer 31 37ed 9d9—1,00,000 %o
» 31 Yd&d H—3,000 %o
» 31 37Ed I foRE—1,000 %o
» 31 gdad fRmE—1,000 %o

. As an Accountant of a firm, in which column (plus or minus) will you write the

following, while preparing Bank Reconciliation Statement from the cash book
overdraft balance?

(i) Cheques issued, but not presented for payment
(ii) Interest on bank overdraft
(i) Cheques paid into bank, but not collected

(iv) Interest on investment collected by bank

foreht & & SETR F ®9 # o1 Ak w7 F Afufaswd 99 ¥ % wqurae e s aw
frafafaa = v waeyy [smr (+) 1@ =2t ()] ° fomem?

(i) Tifia = St yyram % foe weqa 77 g

(i) S Afefasd W s

(iii) S T = ST R T, g GUE e g

(iv) S R T W) gt s

. A, B and C are partners with Capitals of Rs 1,00,000; Rs 75,000 and Rs 50,000

respectively. On C’s retirement, his share is acquired by A and B in the ratio of
3 : 2 respectively.

Ascertain new profit-sharing ratio and gaining ratio.

A, B @1 C Wt & o 3kt dsft swEer: 1,00,000 %o, 75,000 Fo @l 50,000 Fo 3|
C % ST 0T A T 3G 9T A T B+ 3 : 2 % 7A@ § 375 . for|

T T FaTSE o STguTa e ey STguTa i Rl

320/ 0SS /212A 292



16.

What is meant by ‘issuing shares at premium’? State the purposes for which
the amount of premium can be utilised. 4

‘sfergea W 3tRn FRifd e o @ el 27 sarsd R shftrm <6t ain w1 s foe et B
gfd 2 foram < wewar 21

You are a newly appointed Accounts Assistant in Gurgaon Sports Club and
have been asked to calculate the amount of subscription of this club for the
year 2008 from the information given below : 4

(i) Subscription received during the year 2008—

for 2007—Rs 5,000; for 2008—Rs 30,000 and for 2009—Rs 6,000
(i) Subscription received in advance as at 31st December, 2007—Rs 8,000

(i) Subscription outstanding as at 31st December, 2007—Rs 6,000
(iv) Subscription outstanding for the year 2008—Rs 4,000
MY e TeH Foe ¥ T R o6 ™ oran-vee 2 qon e frefafaa & wft gee
% YR W a4 2008 & fou == it Tfsr 6 o 1 & T ot T 2
(i) 99 2008 H H =<1 A—
2007 % T 5,000 %o; 2008 % U 30,000 Fo T 2009 & fTW 6,000 Fo
(i) 31 feEmr, 2007 =1 AW & 9" == —8,000 %o
(i) 31 feurar, 2007 F 31EW F=<_—6,000 Fo
(iv) T§ 2008 I ET F<5T—4,000 Fo

You have recently been appointed as an Assistant Accountant in a company.
The Chief Accountant wants you to make Journal Entries in respect of each of
the following issues of 1000 Debentures of Rs 100 each : 6

(i) Debentures issued at Rs 100, redeemable at Rs 105
(ii) Debentures issued at Rs 95, redeemable at Rs 100
(i) Debentures issued at Rs 105, redeemable at Rs 100
(iv) Debentures issued at Rs 95, redeemable at Rs 105

3ty forelt speoeft R FRpe TR T wee et § | g SeTer = medt § fR e 100 o
et 1000 FuE! & i i yeiss fFefafed feufs 8 dsmmen sfafsat S

(i) A 100 Fo W A, 105 To W e
(ii) T 95 Fo W fAfEA, 100 Fo W IMEA
(iii) O 105 Fo W fHEA, 100 Fo W LA
(iv) A 95 Fo W fHHA, 105 To W MeH
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19. A company forfeits 200 shares of Rs 20 each, originally issued at a premium of
Rs 4 per share. The shareholder paid Rs 8 per share on application but did not
pay the allotment money of Rs 8 per share (including premium) and call of Rs 8
per share.

Pass the necessary Journal Entries if the forfeited shares are reissued at—
(i) Rs 20 per share;

(i) Rs 22 per share.

T O] A 20 Fo Hed dTel 200 I ! Sod B T ST e €9 H 4 Fo U 721 AR
(fftem) w frift foRT 7T 9| toram 9 8 %o Ufd AW % ®U H 3EEH AR 1 PTaH
e o, atg 8 %o Wi 3T % ®I H A URT (TMoHeH Algd) dom 8 Fo Ufd 379 o €4 |
AT AR T A T TR |

AT s Tfteat Hifs afe Sisa fore 7o 79 —
(i) 20 %o Ui I W;
(i) 22 %o Ufd A W

g -frtfea fopem e 2

20. Pass necessary Journal Entries to rectify the following errors :
(i) Sale of an Old Machine for Rs 6,000 was posted to Sales Account
(ii) Purchases Book is undercast by Rs 10,000

(iii) Rs 2,000 withdrawn for domestic use by the proprietor has been debited to
General Expenses Account

(iv) Sales Book is overcast by Rs 1,000

e srggfgat 1 wiem & o fore T wfafest fifw

(i) 6,000 %o ¥ Tk GAH! Wi w1 foaga foram o qen ok @rd # @Ak & T8
(i) FF TE H 10,000 Fo W FHH ST T

(iii) STSETE % T T 2,000 Fo W =T * fou fewret, 5= am= =2 @ & 9m ° foma
fear

(iv) o= =it 1 A 1,000 To A 2Aferss TRl T
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21. From the information given below, prepare Trading and Profit & Loss A/c for

the year ended 30th June, 2008 and a Balance Sheet as on that date :

Dr. Balances

Cr. Balances

Rs Rs
Opening Stock 40,000 —
Purchases and Sales 1,80,000 3,20,000
Sales Returns 5,500 —
Wages 22,000 —
Carriage 5,400 —
Bad Debts 600 —
Bad Debts Reserve — 1,000
Debtors and Creditors 50,300 15,800
Office Furniture 15,300 —
Plant and Machinery 78,000 —
Advertisement 10,600 —
Commission — 800
Capital — 1,20,000
Drawings 15,000 —
Investments 16,100 —
Cash 16,000 —
Rent and Insurance 2,800 —

4,57,600 4,57,600

Adjustments :

(i) Stock on 30th June, 2008 was Rs 32,000

(i) Rent outstanding amounted to Rs 500 and

amounted to Rs 300

insurance unexpired

(i) Commission amounting to Rs 120 has been received in advance

(iv) Write off Rs 300 as Bad Debts and provide a Reserve for Doubtful Debts at

2:5% on Debtors

(v) Depreciate Plant and Machinery by 5%

320/ 0SS /212A
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OR

The following particulars relate to Krishnanagar Club for the year ended on

31st December, 2008 :

Receipts & Payments A/c
for the year ended 31st December, 2008

Receipts Amount Payments Amount

Rs Rs
To Balance b/d 600 | By Salaries 1,245
» Subscriptions : » Stationery 240
2007 24 » Rates and Taxes 360
2008 1,266 » Telephone Expenses 60
2009 48 1,338 | » Investments 750
» Profit from Canteen 900| » Advertisement 105
» Miscellaneous Receipts 45| » Postages 100
» Sale of Old Newspapers 112| » Sundry Expenses 350
» Dividends 485| » Balance c/d 270
3,480 3,480

You are required to prepare an Income & Expenditure A/c and a Balance Sheet
after making the following adjustments :

(i) There are 450 members each paying an annual subscription of Rs 3,

Rs 27 being in arrears for 2007 at the beginning of this year

(ii) Stock of Stationery on 31st December,

31st December, 2008 was Rs 54

(iii) Cost of Building is Rs 6,000; Depreciate it at 3%

320/ 0SS /212A
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=1 g=HT @ 30 S, 2008 i GHT B dTcl 9Y okl AT T ATH-2MH @rdr 991 3t faa

=1 feafa-foeror dur ifs
9 I ST 9T
Fo %o

TRfrTes T 40,000 —
FRR A CED] 1,80,000 | 3,20,000
o amoeht 5,500 —
HSigdl 22,000 —
Aqrel 5,400 —
gad H0 600 —
gad 0 G — 1,000
TIER Td THER 50,300 15,800
HEATAT BT 15,300 —
I ug O 78,000 —
\CEICE] 10,600 —
RN — 800
LKl — 1,20,000
ST 15,000 —
IEIERIK 16,100 —
Uehe 16,000 —
foran wa i 2,800 —

4,57,600 | 4,57,600

Hmﬁamﬁ:

(i) 30 S, 2008 ! Tl 1 gea 32,000 Fo o

(i) 3T&T TRTET 500 %o qAT Yaad o 300 %o

(i) 120 Fo =1 HHIIH AW & grq fFam

(iv) 300 %o T&d FU & TUfciRgd FIRT qoN FER W 2-5% Tle 0 JEe™= (H= )

T 2

(v) TIA TE TR R 5% B AT 8

320/ 0SS /212A

or7

IPTO



YT

31 fe@mr, 2008 =i THE B aTet 99 & folu FWER Fotal & T e & -

9Ty Td YA @t
31 fagmr, 2008 &
srfaEr UE T IE
%o %o

L 600 | 3= 1,245
== e gt () 240
2007 24 IR-F (1) Td 360
2008 1,266 AT = 60
2009 48 1,338 | faf-rmm 750
TSI o 1Y 900 | fergm= 105
fafeare wftat 45 | 5Tk = 100
A TEER i ot 112 | fafim == 350
IR 485 | 39 270
3,480 3,480

A e THREISETE S % YT, 3T qeT 2 @rdn a9 feafa-foeren e i

(i) TEE H G 450 T AT TAF H GGl Yoo 3 Fo ATYS @l 3@ IY ok TRET H
2007 % 27 %o THMAT &

(i) vE wmf 1 wiea 31 feurer, 2007 # 30 %o qur 31 fe@mRr, 2008 &1 54 Fo o

(iii) 9SH I AT 6,000 Fo B; TM W 5% FIE TEY

320/ 0SS /212A 28



22. The following was the Balance Sheet of A and B who were sharing profits in the

ratio of 2 : 1 on 31st December, 2008 :

Balance Sheet
as at 31st December, 2008

Liabilities Amount Assets Amount

Rs Rs
Creditors 65,900 | Cash 1,200
Capitals : Sundry Debtors 9,700
A 30,000 Stock 20,000
B 20,000 50,000 | Plant & Machinery 35,000
Building 50,000
1,15,900 1,15,900

They agreed to admit C into partnership on the following terms :

(i) C was to be the given %rd share in profits and was to bring Rs 15,000 as

Capital and Rs 6,000 as Share of Goodwill

(ii) The value of Stock and Plant & Machinery were to be reduced by 10%

(iii) A provision of 5% was to be created for Doubtful Debts

(iv) The Building was to be appreciated by 20%

(v) Investments worth Rs 1,400 (not mentioned in the Balance Sheet) were to

be taken into account

(vi) The amount of Goodwill was to be withdrawn by the old partners

You are required to prepare the Revaluation A/c, Capital A/cs and the Opening

Balance Sheet of the new firm.

320/ 0SS /212A
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OR

A and B are partners sharing profits and losses equally. Their Balance Sheet as
on 31st December, 2008 is as follows :

Balance Sheet
as at 31st December, 2008

Liabilities Amount Assets Amount

Rs Rs
Creditors 25,000 | Cash at Bank 2,000
Mrs. A’s Loan 5,000 | Debtors 18,000
Capitals : Stock 25,200
A 60,000 Loose Tools 8,000
B 40,000 | 1,00,000 | Plant 60,000
Goodwill 6,000
Profit & Loss A/c 10,800
1,30,000 1,30,000

They decided to dissolve the firm. Following was the position :

(i) Assets were realised as :

Stock—Rs 22,000; Debtors at a discount of 10%; Loose tools
at Rs 7,000 and Plant at Rs 65,000

(i) There was a contingent liability for Rs 2,000 for bill discounted. The bill
was received from R who became insolvent and 60% was recovered from
his estate

(i) There was an old typewriter in the firm which had to be written off
completely from the books. It is now taken over by B at Rs 1,200

(iv) A agreed to discharge his wife’s loan
(v) Creditors were paid Rs 22,500 in full settlement

(vi) Expenses of realisation amounted to Rs 900

Prepare necessary Accounts (Realisation A/c, Capital A/cs and Bank A/c) to
close the books of the firm.
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A A1 B w1 feaid-foerur, ST 2 : 1 % a1 § o9 died 9, 31 fd@rr, 2008 Hl W

ThlL T :
fesrfa-faaor
31 fagwr, 2008 #Ht
%o Fo

e’ 65,900 | Tehe 1,200
IS fafay SeR 9,700
A 30,000 LRI 20,000
B 20,000 50,000 | 99 wg 93t 35,000
9aq 50,000
1,15,900 1,15,900

=1 3t W 3R C B wEEr 39 w1 ol forn

()

(@)

(iii)

()

)

(vi)

C %1 o9 1 L 9t fel o 38 15,000 %o YSft 1 6,000 %o AT & &M &l

TEfa, o TE Wi & qed 10% %A fRm S

gfewy w07 o fTw 5% w1 graa™ fomam s

o T 20% 3Tfo JoAieh Tm

1,400 %o ol @ # o & (S fefa-foewor # & fomml ™€)

AT <l AR GO AER] g Hepra ot Serft

3TTIeh! QTR @TdT, St WTd a1 75 %H 6l TR o1 fefa-faemor dam & 2|
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YT

A TAT B HT3IER &, ST AAT9-8T SeR-sRe died 2| 31 feawmer, 2008 &t 37 feufa-faemo
ﬁFﬁH%R%:

feerfar-feraror
31 fagwr, 2008 &
%o %o

TER 25,000 | 5 § Uehe 2,000
sfiafa A 1 w0 5,000 | T9eR 18,000
ECil e 25,200
A 60,000 ol 3SR 8,000
B 40,000 | 1,00,000 | &= 60,000
It 6,000
AT -1 @ 10,800
1,30,000 1,30,000

I Ao ®H % guro o1 frve fomm Fefafaa feafa of .

(i) aREFfaEr S 39 YR i TR
TefeR 22,000 Fo; IER 10% hl B2 FH Hoh; Gol W 7,000 Fo qT T
65,000 %o

(i) FEFHA o & T 2,000 Fo & wrwrfaa afea | fod R & wmw fom o, it faanfern
T o 3kt FEIT @ 60% WTH §U

(i) ®H H T GO IR AT ST gEdehi | GUIdAl STfoTRad foRm ST gkt 1| 319 36 B A
1,200 %o ¥ o o

(iv) A IO Gl % BT HT YA FA F T gewd 2

(v) TERI T YaH H 22,500 %o § f ™

(vi) A =T 900 Fo EY

®H Sl JEoh 98 A o [O10 STEweh @I (Fe @Tal, Ysft @rd a1 &% @rdr) e
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23.

24.

25.

26.

SECTION-B
Qus-d

OPTION-I
ICET M|

( Analysis of Financial Statements )

( Torfra feraont st forgerson )

Why are Trade Unions interested in the analysis of financial statements? 1

Atk To fota foawoni < forgetyor # ®fa =i wadt 87

Give the formula of calculating the following ratios : 2
(a) Current Ratio

(b) Proprietory Ratio

frfeTitaa s1gaTal =it oM o6 g3 AT

() ey FgaTa
(@) wives 7T

State any two aspects which the interpreter is expected to study while
interpreting Comparative Balance Sheets. 2

el T a1 TRl 1 Sarey e st SAmeRal g qorTeRs fefa - faerett i samen
A T HEAT 3T B

From the information given below, calculate Opening Stock and Closing Stock :

Sales during the year = Rs 4,00,000

Gross Profit on Sales = 40%

Stock Turnover Ratio = 4 times

If Closing Stock is Rs 20,000 more than the Opening Stock, what will be the
amount of the Opening Stock and Closing Stock? 4
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et &1 T T | R @i T eAfm wiaan Al e S

a9 4§ faht = 4,00,000 %o
forsht W "ot 19 = 40%

it aTad e = 4 T

Ife arfam efean urfees wfaar @ 20,000 %o 2afass 2, @ yRftas wieen g stf<n wfamn

fepe Brm?

27. From the information given below, prepare Cash Flow Statement in respect of

Shriyans Ltd. :

Balance Sheets of Shriyans Ltd.
as on 31st March, 2007 and 2008

Liabilities 2007 2008 Assets 2007 2008
Rs Rs Rs Rs
Share Capital 80,000 85,000 | Land & Building 50,000 50,000
Accumulated Plant & Machinery 24,000| 34,000
Profits 14,500 24,500 | Stock 9,000 7,000
Mortgage Loan — 5,000 | Debtors 16,500| 19,500
Creditors 9,000 5,000 | Ccash 4,000 9,000
1,03,500| 1,19,500 1,03,500| 1,19,500
= & = gE 9 fe o U yame-faawor dew #ifsw
g fero 1 fegifa-faaror
31 9T, 2007 TF 2008 FI
3gam 2007 2008 gRErgfaar 2007 2008
%o %o %o %o

3T gsit 80,000| 85,000 | ¥fi & waq 50,000| 50,000

gfea @mw 14,500| 24,500 | €a= ug "f=d 24,000| 34,000

FGH — 5,000 | T&fa=n 9,000 7,000

TER 9,000 5,000 | 3R 16,500 19,500

Uhe 4,000 9,000

1,03,500| 1,19,500 1,03,500| 1,19,500
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OPTION-II
IEET M|

( Elementary Cost Accounting )
( IRfrires EmTa ST )

23. Differentiate between Cost Accounting and Financial Accounting on the basis of

‘Objective’.
AN oHaTeh Ue foxfia oiaiehd ‘3299’ o STUR W 3Ta¥e hifeiy |

24. Explain, in brief, the meaning of Fixed Cost’.

‘correft @’ & 31ef Y wag # sawen fifsu)

25. Calculate Prime Cost from the information given below :

Cost of materials purchased

Opening Stock of material

Closing Stock of material

Wages paid

Rent of hire of a special machine for production

= & Wit gE | go ArTa A T A

EREEIRIERS IO ARSI
qrft o1 arRfeTes wiaan
gt sk A wfaan

HSIG 1 YT
3cTed & foru o e ft 8 foiw wefie = femmn

Rs
60,000
12,000

8,000
6,000
10,000

%o
60,000
12,000

8,000
6,000
10,000

26. A machine manufacturer purchases 1800 units of a certain component for his
annual usage. The order placing cost is Rs 100 and cost of carrying one unit for

a year is Rs 4.

Calculate the Economic Order Quantity.

Uk Heie Fmiar eoe ad % 3w % U $w srEeEl i 1800 IHEAT HA AT 8| IR

& AN 100 %o dUT Teh Ih1E hl Ueh 99 W shl Ad 4 %o 2|
firqem=h atrew v i orn Fifso)
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27. A firm maintains its stores ledger on First-in-First-out (FIFO) method basis.
Following is the summary of the receipts and issues of raw materials during the

month of December 2008. Record these transactions in the stores ledger :

Receipts :
2008
December 1
» 3
» 11
» 19
Issues :
2008
December 7
» 16

Balance—200 units @ Rs 18 per unit

Purchase Order No. 11—300 units @ Rs 20 per unit
Purchase Order No. 15—400 units @ Rs 22 per unit
Purchase Order No. 21—600 units @ Rs 20 per unit

Materials Requisition No. 14—250 units
Material Requisition No. 16—550 units

Tsh HH SO TR WAl SE) e -YeRl-Ugel - (el (FIFO) Tgid o S8R W a=rdt 8| fewms
2008 Tre # f= wmft it ity wa fie o ) 39 SRl o R @ S8 # sfiee

Eﬁﬁﬂl :
W:
2008
g 1
”» 3
» 11
» 19
ﬁl’fq? :
2008
fegr 7
» 16
320/ 0SS /212A

IT—200 IHEAT 18 Fo Tfd IHE H W A

A AR Fo 11—300 THEAT 20 o Ul THIS I T A
I I Fo 15—400 FHEAT 22 Fo Ufd THIS i & A
A AR Fo 21—600 THEAT 20 Fo Ul THIS I T A

gt SAfRAET Fo 14—250 gHEAT
wrft e 9o 16—550 TehTEal

* ok ok
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